C214 O©AKG

»HARMAN

SERVICE MANUAL / # 3185200010 / 06/2015

@
®

20

[EERREER]

@ |G
|
i

12

20 B

(exl®

AKG CUSTOMER SERVICE DEPARTMENT / Laxenburger Strale 254 / 1230 Vienna, Austria
TEL: +43 1 866 54-0/ FAX: +43 1 866 54-1514 / service@akg.com / www.akg.com

1/2



C214

O©AKG

/HARMAN

SERVICE MANUAL / # 3185200010 / 06/2015

Parts list / Stiickliste

. Part number uantit .
Description Pos. Bestellnummer st ck Y Bezeichnung

Housing base 1 3185710010 1 Gehauseunterteil
Housing top 2 3185711010 1 Gehauseoberteil
Frame 3 2785204020 1 Rahmen
Contact holder 4 3185M11010 1 Kontakthalter
Decor ring 5 3185712010 1 Zierring
Capsule compl. 6 2512M99070 1 Kapsel kompl.
Suspension 7 2820714010 1 Aufhdngung
Litz wire 25mm 8 5068934 2 Litze 25mm
Grille, nickel (front) 10 | 3185M12010 1 Gitter nickel (vorne)
Grille, black (back) 11 3185M12020 1 Gitter schwarz (hinten)
Screw M3x35 12 | 7045D30050 2 Schraube M3x35
Screw M2,5x6 13 7500D25020 1 Schraube M2,5x6
Label AKG 15 | 4786500010 1 Label AKG
Lock washer 18 | 6797D32030 2 Zahnscheibe
Switch cover 17 2785209020 2 Schalterblende
Print circuit board compl. 20 | 3185M01010 1 Print kompl.
Inner grille 21 31857214010 1 Innengitter
Windshield - 3185730010 1 Windschutz
H85 Shock mount - 6001H30140 1 H85 Elastische Halterung

AKG CUSTOMER SERVICE DEPARTMENT / Laxenburger Strale 254 / 1230 Vienna, Austria
TEL: +43 1 866 54-0/ FAX: +43 1 866 54-1514 / service@akg.com / www.akg.com

2/2



